
Appendix A

Computation of the low-skilled

wage

As was outlined in chapter 5, we compute the ’skilled wage’ wL as a weighted

average of individuals who attained primary or none education, secondary voca-

tional school (without ’maturita’ exam) and secondary schools with ’maturita’

exam. The calculation is described below:

Table A.1: Calculation of low-skilled wage

Education Average monthly wage Population

Primary/none 18 450 121 518
Secondary without ’maturita’ 21 804 570 414
Secondary with ’maturita’ 28 494 637 916

Total ’unskilled’ — 1 329 848
Source: Author based on (CZSO, 2011a)

We now follow the formula for the weighted average:

weighted avgwL
=

∑

3

i=1
wixi

∑

3

i=1
wi

where xi is the monthly average wage for each level of education and wi is the

weight, i.e. population that attained the corresponding level of education.

weighted avgwL
= 24 706

The weighted average per month is 24 706 CZK, so the annual unskilled wage

is 296 479 CZK.



Appendix B

Precise calculations for the TS

calibration

The fact that the real participation in higher education for the TS scheme is

59% means that 59% of the respective age cohort have ability above certain

threshold ability level. This ability, as measured by the IQ test, is normally

distributed with mean 100 and standard deviation 15. The threshold ability

which we call âTS is such that the probability that a randomly chosen person

from the age cohort will have ability above âTS is 59%. In other words, the

probability that a randomly chosen person from the age cohort will be below

âTS is 41%. We will use the latter formulation to proceed. Therefore, we look

for âTS such that

P (aTS < âTS) = 0.41

where aTS is a random variable drawn from the IQ scores distribution. In

the text, we calculate âTS using a computerized statistical system (HyperStat,

2014). Here we provide a more detailed ’manual’ calculation of âTS. Because

we want to use statistical tables for the Standard Normal Distribution, we need

to normalize the problem, i.e. rewrite it as follows:

P (aTS < âTS) = 0.41⇔ P

(

z <
100− âTS

15

)

where

Z =

(

100− âTS

15

)



B. Precise calculations for the TS calibration III

is a standard normal random variable. This follows from

z =
µ−X

σ

where µ is the mean and σ is standard deviation - see (Bartoszynski and

Niewiadomska-Bugaj, 2007). Using statistical tables for normal distribution,

we find that

z =

(

aTS
− 100

15

)

= −0.23

âTS = 96.55.

For completeness, the result when using (HyperStat, 2014) was 96.593.



Appendix C

Additional tables



C. Additional tables V

Figure C.1: Trends in entry rates at the tertiary level type 5A (1995-
2011)

Source: (OECD, 2013, p. 301)



C. Additional tables VI

Figure C.2: Public support for households and other private entities
as a percentage of total public expenditure on education,
for tertiary education (2010)

Source: (OECD, 2013, p. 236)



C. Additional tables VII

Figure C.3: Expenditure on education institutions, by service cate-
gory, as a percentage of GDP, tertiary level (2010)

Source: (OECD, 2013, p. 194)


